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Instructions :

ENGLISH VERSION

(1) All questions carry equal marks.
(2) Answer any four questions.

1 (@) What is skewness ? Explain types of skewness.
(b) From the given data find quartile deviation, coefficient
of quartile deviation and Bowley’s coefficient of skewness :

Classes

0-10 | 10-20

20-30

30-40

40-50

50-60

60-70

Frequency

8 7

5

2

8

12

2 (a) Explain the measures of dispersion.
(b) From the given data find coefficient of variation and
Karl Pearson’s coefficient of skewness :

Classes 0-10 | 10-20 | 20-30

30-40

40-50

50-60

60-70 | 70-80

80-90

Frequency | 4 9

17

25

20

11

8

5

1

3 (a) Explain meaning and necessity of cost of living index

number.

(b) The monthly salary of Rajkot’s worker is Rs. 1,750 and
spends Rs. 1,750. The cost of living index number for
same month is 136. For the given data find house rent
(HR) and cloth expenditure :

Group Food | Cloth | HR | Fuel | Misc.
Expenditure 700 | - - 180 | 315
Index Number | 180 |150 |[100 |[110 |80

4 (a) Explain uses and limitations of index number :

(b) From the given data calculate :

IL’ IP ’ IF ’ IDB

Commodity] Base Year Current Year
Price Quantity Price Quantity
\Y 3.00 26 4.50 30
E 8.40 15 10.20 20
D 6.50 12 9.00 15
A 10.80 05 12.50 10
G 4.00 07 5.00 09
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5 Explain :

(1) Difference between population inquiry and sample
inquiry.

(2) Simple random sampling method.
(3) Stratified sampling method.

6 (@) Find the missing values :

Strata | Number | Mean | Variance |Sample Size
1 - 42 - 12
2 — 45 50 10
3 80 50 70 10

N =300, Y = 45.13 V(it) = 1.66

(b) The observations under population study are 2,4,6,8,10
and 12. From this samples of 4 size are drawn without
replacement. Find random samples. Prove that mean of
samples mean is equal to population mean. Also find
variance of sample mean.

7 (a) Explain types of correlation.

(b) Find Karl Pearson’s coefficient of correlation :

x [ 300 | 350 | 400 |[450 [500 |550 |[600 |[650 |700
y [ 800 | 900 | 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600

8 (a) Explain difference between Regression and
correlation.
(b) Two regression lines are x+2y = —5 = 0 and
2x+3y —8 = 0. Find X,y and r. If variance of

x 1s 12, then find variance of y.
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